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Note: This questlon paper contains two parts A and B.

Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.
Each questlon carries 10 marks and may have a, b, ¢ as sub questions.
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1.a)  What are the primary cla51ﬁcat10ns of surveying? [2]

b)  What are the advantages of observing back bearing in a closed traverse? [3]

¢) What do you mean by the following terms?
i) Meridian distance ii) Double meridian distance iii) Double parallel distance.
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S d) __’_H_:'What are the meltiods of deter;g}patlon ‘of area; from ‘plan? L i7 v[3) L4 2
w5 el Whatare theiconditions to be satisfiedsin a closed thiepdolite traverse?.. 2] e P
f)  What are advantages of traversing over triangulation? 31
g) What are the advantages of Tacheometric surveying over other methods? [2]
h) What is meant by Shift of a curve? [3]
i) Mentlon advantages of using Total station. [2]
b B 31
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(50 Marks)
2.2) Give in a tabular form, the difference between prismatic compass and surveyor’s
compass.
b) Describe how you would range a survey line between two points which are not
mterv151ble [6+4]
................. . OR g
3. a} /Deﬁne surveymg What are theprmmples of surveymg" Explam them bneﬂy Y I
b) What' is Magnetic-"declination? "What are’ différerit types of “vafiation in "
declination? [5+5]
4. What is meant by “area of zero circle” of a planimeter? How would you
determine it? [10]
................................... OR [y
S 5a) Discuss the characterlstlcs of contours Give sug_"ta,ble sketches _________ oo I -
b) Explam the method.of computatior-of volume by Prisntoidal forrnula; [5+5]
6.2) Explain the temporary adjustments of a transit.
b) What are various checks to be performed on closed and open traverse? [5+5])
OR
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7. Form the elevation of the chimney from the following data
Instrument |  Reading Angle of Remarks
_ Stion _ onB(m) - elevation
B 421 380m ’
Distance AB=50m
Stations A and B and the top of chimney are in the same vertical plane.  [10]
8.a) What do you understand by tacheometery? Discuss the errors in stadla surveying.
b);*"“‘«Llst the varlous methods of settmg out-a s1mple mrcular gurve. ‘ [5+S] — T
.J ................ v r OR! ». ....... < ‘ I
9, ° Tivo’ stra1ghts Ac and BC meet at~an 1nacce551ble pomt C They Are to be """"""""
connected by a simple curve of radius 12 chains. Two points P and Q are selected
on AC and BC respectlvely and the followmg measurements are made,
Angle APQ=160; Angle BQP"164 PQ=86m.
Chainage of P=71.546 chains. .o
er., DELEIMINE: ., o g e,
o a) The defleonon angle of the ,cuer ; o .
. b).Tangent length ™. . Py
c) Length of the curve
d) Chainage of the end points of the curve
Take 1 chain=20m. [10} .
_.’u’yk * ;..m...., -, §.-..-..
b) \ -
Illustrate with an example [5+5]
OR -
11.a) Write a short note on the errors in EDM. ‘
b) Suggest possible users of a GPS and how it might benefit them. [5+5]
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